Assignment

Find the value of ¢ that completes the square.

1) x> +9x+cC

3) x> —3x+c

5) X* +5X+¢

7) a®+19a+c

31
9) X! —=—x+¢C
11

13
11) m* +—m+c
10

13) x* +13x+¢

15) a’ - 17a+c¢

5
17) n2+§n+c

13
19) 22+72+c

21) 22 - 152+¢

23) x* +11x+¢

b2 wsgsgs ath-vsorlsheel ory

Name

ID: 1

Date

Period

2) p*-5p+c
3

4) x> +-—x+cC
13

6) N> +7n+c
8) x> +17x+¢C

10) 22 +15z2+¢
12) p*>-13p+c

14) y* - 19y +c

67

16) x* ——x+c¢
17
46

18) a’——a+c
19
97

20) Y +—y+c
) Y Y
17

22) p2+?p+c

24) n? —ﬁn +C
21
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Answers to Assignment (ID: 1)

81 25 9 9
1) — 2) == 3) = 4) —
) ) )4 ) 576
25 49 361 289
5) == 6) — 7) — 8) —
) ) )7 )7
9) 961 10) 225 11) 169 12) 169
484 4 400 4
169 361 289 4489
13) — 14) =~ 15) == 16) ——
4 4 4 1156
2 1y 2 1) 19 20) 200
256 361 16 1600
225 289 121 2809
21) === 22) == 23) — 24) ==
4 144 4 1764
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Assignment

Find the value of ¢ that completes the square.

1) a’+1la+c

3) y*-7y+c

17
5) r2+?r+c

51
7) 7 +—z+c
7
9) x*+17x+¢
11) y*—y+c
13) m? — 15m+c
19
15) x2+?x+c

17) x* = 5x+¢

19) r* +3r+c
10

21) x* +—x+¢C
13

23) r’+9r+c

b2 wsgsgs ath-vsorlsheel ory

Name

ID: 2

Date

2) x> —19x+¢C
4) m*+2Ilm+c¢

6) p*+19p+c
8) x> —11x+c

10) n> —13n+c¢
, 1

12) a“+—a+c
4

14) r* =3r+c
, 3

16) p +5p+c

18) y? +5y+c¢

20) m* —9m+c

39
22) x* FxAC

61
24) X* +—X+C
13

Period
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Answers to Assignment (ID: 2)

121 361 49 441
1) e 2) e 3) v 4) e
289 361 2601 121
T ) " o6 Oy
289 169 1 1
9 10) —- 1) 12)
225 9 361 9
13) e 14) " 15) oa 16) T
25 25 9 81
17) = 18) — 19) = 20) —
4 4 4 4

25 1521 81 3721

21) — 22) —— 23) — 24) ——

169 196 4 676

i
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Assignment

Find the value of ¢ that completes the square.

1) x*=7x+cC

3) p?-5p+c

5) n+5n+c
7) x> +17x+¢
9) r*+15r+c

11) n* + Iln+c
13) a’-3a+c¢

15) x> +9x +¢

17) y*+19y+c¢

3

19) x> +=x+¢
8
52

21) 22 - —=z+c
15

46
23) y? _Eer C

b2 wsgsgs ath-vsorlsheel ory

Name

ID: 3

Date

Period

2) 2 +7z+¢
8

4) x* +—x+cC
11

6) a>—9a+c
8) m* +3m+c

10) p*-p+c

55
12) y? BT A

25
14) x* —==x+c¢
17
16) r* +21r+c
36
18) p*-—p+c
) P -1oP

20) x> —15x+¢
22) x>+ 13x+¢

24) x> —19x+¢
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Answers to Assignment (I1D: 3)

49 49 25 16
1) = 2) = 3) = 4) —
) 4 ) 4 ) 4 ) 121
25 81 289 9
5) o 6) ” 7) e 8) 2
225 1 121 3025
9) 22 10) — 11) =~ 12) 22
4 4 4 1024
9 625 81 441
13) =~ 14) 222 15) =~ 16) ——
4 1156 4 4
361 324 9 225
17) 222 18) 2% 19) —— 20) =22
4 361 256 4
676 169 529 361
21) 212 22) -2 23) 2= 28y 220
225 4 441 4

b
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Assignment

Find the value of ¢ that completes the square.

1) x>+ 11x+¢

3) X +21x+cC
5) x* + 19X +¢C

7) y*—1ly+c
7

9) p2——p+c

) P AP

11) x* +15x+¢

13) x* —3x+¢

1
15) n* —=n+c
2

1
17) x2+7x+c

19) x> +3x+¢

21) y*—y+cC

111
23) X2—7X+C

b2 wsgsgs ath-vsorlsheel ory

Name

ID: 4

Date

Period

2) 22 -19z+¢C
13
4) a’+—a+c
18
13
6) X +—X+C
7
8) r’—9r+c
10) x* —13x+¢
, S
12) x +§x+c

14) x* - 17x+c¢

16) y* -5y +c

18) 22 -7z+¢

50
20) r’ ——r+c
13

3
22) m2+5m+c

24) x> —15x+¢
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Answers to Assignment (ID: 4)

121 361 441 169
D= 2) =~ 3) — 5 >
4 4 4 1296
5) 361 6) 169 7) 121 8) 81
4 196 4 4
49 169 225 25
9 — 10) — 11) == 12) —
64 4 4 324
9 289 1 25
13) — 14) — 15) — 16) =
4 4 16 4
! 49 9 625
17) ok 18) — 19) = 20) =2
196 4 4 169
1 9 12321 225
21) — 22) — 23) ——— 24) ===
4 16 196 4
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Assignment

Find the value of ¢ that completes the square.

1) 2 -3z+c

3) x> +9x+c¢

5) a’+7a+c¢

13
7) N> ——n+c
17

1
9) x> ——X+¢C
19

11) p*-1lp+c
13) y* + 13y +c

15) x> —x+¢

17) r* + 11r+c¢

19) x* +21x+c¢

21) a’+1%9a+c¢

23
23) v +—=y+c
)Y Y

b2 wsgsgs ath-vsorlsheel ory

Name

ID: 5

Date

Period

2) p*-15p+c¢
2

4) x> +—x+cC
13

6) x* —7x+cC

8) x> —9x+c¢

10) 22 +3z+¢c

1
12) x2—§x+c

14) az—ﬁa+c
17

16) n*—17n+c

18) x2+£x+c
2

20) p*-5p+c

22) xz—%sx+c

24) m* +5m+c
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Answers to Assignment (ID: 5)

9 225 81 1
1) = 2) === 3) — 4) —
)4 )7 ) ) 169
5) 49 6) 49 7) 169 8) 81
4 4 1156 4
1 121 1
9) —— 10) J 11) — 12) —
1444 4 4 256
169 144 1 289
13) — 14) — 15) — 16) ==
4 289 4 4
121 169 441 25
17) — 18) — 19) — 20) ==
4 16 4 4
361 2025 529 25
21) =~ 22) == 23) = 24) ==
4 256 900 4
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Assignment

Find the value of ¢ that completes the square.

1) x> +3x+cC
3) p’-7p+c

5) a’—17a+¢C
5

7) x> +=x+¢
7

9) y*-19y+c
11) p*+7p+c

13) x* + 19x +¢
11
15) n2+7n+c

17) y* - 13y+c

19) x* —5x+¢

7
21) a’ ——a+c
6

23) r? —9r+c

b2 wsgsgs ath-vsorlsheel ory

Name

ID: 6

Date

Period

2) 22 +152+¢C
4) r*+17r+c
6) n*+13n+c

8) x*+ l1x+c

1
10) m?* + —m+c
18

64
12) x* FxHC

14) a’ — 1la+c

16) 22 +21z+c¢

1
18) r’+—r+c
2
101
20) 22 ———z+c¢
10
, 1
22) y —gy+c

3
24) m2+5m+c
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1)

289
5 —

361
9) —

1
13) 201
4

1
17) 169

49
21) ——
144

Answers to Assignment (I1D: 6)

225
2) —
4

169
6 -
)
1

10) ——

1296

121
14) —
4

1
18) —
)16

1
22) —
256

LT wsgsgs ath-vsorlsheel ory

49
3) —
) 4

2
7) 2
196
4
11) Y
4

121
15) —

64
25
4
81

4

19)

23)
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Assignment

Find the value of ¢ that completes the square.

1) x> +21x+¢

3) pP+19p+c
25

5) n —=n+c
8

7) x> —13x+¢C
67

9) 22 +—z+¢
14
9

11) r* +—r+c
13

13) x* —7x+¢

15) x> +7x+¢

17) 22 +3z+¢
19) x* + 13x+¢

21) x* +11x+c¢

1
23) x> ——x+¢C
2

2 gegsus. path-worsheet.ory

Name

ID: 7

Date

Period

2) 22 -9z+¢
4) x* —11x+c

6) y’-y+c

8) x*—17x+¢

10) m* —15m+c

12) x*-5x+¢

64

14) a’——a+c
19

16) x> +5%x+¢

18) 2+£ +C
p 17p

17
20) x? ——Xx+¢
16

22) m* —3m+c

24) 2 +9r+c
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Answers to Assignment (ID: 7)

441 81 361 121
1) — 2) — 3) —— D —
) 4 ) ) 4 ) 4
625 1 169 289
5) —— 6) — 7 — 8) —
256 4 4 4
4489 225 81 25
9 —— 10) == 1) — 12) —
784 4 676 4
49 1024 49 25
13) — 14) —— 15) — 16) =
4 361 4 4
9 169 169 289
17) — 18) —— 19) — 20) ——
4 1156 4 1024
121 9 1 81
21) — 22) — 23) — 24) —
4 4 16 4
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math-worksheet.org



Assignment

Find the value of ¢ that completes the square.

1) x* —5x+¢c

3) X2+ 3x+c
5

5) n>+5n+c¢

7) x*+3x+¢

9) r*+15r+c

11) p*-p+c

13) x* - 17x+¢

173

15) z* +—z+¢C
18
9

17) x* —==x+¢
7

17
19) y? tyee

21) a’-13a+c¢

23) rX—15r+c

b2 wsgsgs ath-vsorlsheel ory

Name

ID: 8

Date

Period

2) xz—lx+c
2

4) y*+7y+c

16

6) a°’ ——a+cC
9

8) x*+17x+cC
34

10) x*+=—x+c¢
21

12) y*+13y+c
14) a’-19a+c

16) r* +21r+c
18) n+9n+c

20) x> —11x+c¢

22) x* —ix+c
13

19
24) x* +—x+¢
12

math-worksheet.org



225

2
13) 2%
4

81
17) —
196

169
21) —=
4

Answers to Assignment (I1D: 8)

1
2 I
) 16
64
6 —
) %1
289
441
361

4

1
18) 3L
4

10)

14)

49
22) ——
676

LT wsgsgs ath-vsorlsheel ory

9

3) —
100
9

7 _

)

1

11) —
),
29929

15) ——
1296

289

64
25

4

19)

23)

24)

441
121

361
576
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Assignment

Find the value of ¢ that completes the square.

1) a’-7a+c

3) x> +2Ix+cC

5) n>+19n+c¢
5

7y -=y+c

)y )

9) m?*+17m+c

11) N JELN,
19

13) r =3r+c
15) y? -5y +c¢

17) x> +5%x+¢

19) NI
16

21) n? +2% ¢
17

1
23) x2+5x+c

b2 wsgsgs ath-vsorlsheel ory

Name

ID: 9

Date

Period

2) x> —9x+c¢
107

4) 2 +—z+¢C
10

6) x> —13x+cC

8) x> —x+¢

10) x* - 15x+¢

12) n* = 17n+c

42
14) p*+—p+¢
) P 3P

32
16) m?* + —m+c
19

18) x> +3Xx+¢

20) a’+7a+c
22) x* —11x+c¢

24) x>+ 11x+c¢
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Answers to Assignment (I1D: 9)

49 81 441 11449
1) — 2) — 3) — 4) ——=
4 4 4 400
361 169 25 1
5 =~ 6 =~ [ 8
289 225 625 289
9 10) == ) o5 12) =~
9 441 25 256
13) — 14) — 15) — 16) —
4 169 4 361
25 9 25 49
17) = 18) = 19) — 20) —
4 4 1024 4
225 121 1 121
21) —= 22) — 23) — 24) ——
289 4 16 4

b
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Assignment

Find the value of ¢ that completes the square.

1) 2 -3z+c
3) x> +9x+c¢

5) a’+7a+c

7) x> +17x+¢C
3

9) m*-=m+c
2

11) p*+15p+c
13) a’+13a+c¢

15) x*—x+¢C

17) p*+21p+c

1
19) x2+§x+c

31
21) x2+?x+c

23) a’ - 17a+c¢

b2 wsgsgs ath-vsorlsheel ory

Name

ID: 10

Date

Period

2) pP+1lp+c

4) n>-5n+c
17

6) X* ——X+C
15

8) r’+5r+c

10) 22 +3z+¢C

16
12) x> ——x+c¢
21

5

14) N>+ =n+c
2

16) x* —19x +¢
5

18) r* —=r+c
7
132

20) a’+——a+c
13

22) p*-15p+c

5
24) x* ——x+¢
16
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Answers to Assignment (ID: 10)

9 121 81 25
1) = 2) — 3) — 4 =
)4 ) ) )
49 289 289 25
5) — 6) — ) — 8) —
4 900 4 4
9 9 225 64
9) — 10) = 11) == 12) —
16 4 4 441
169 25 1 361
13) — 14) == 15) — 16) —
4 16 4 4
441 25 1 4356
17) — 18) —— 19) — 20) ——
4 196 36 169
961 225 289 25
21) —— 22) === 23) =2 24) ——
324 4 4 1024
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